Planet Holloway websheet Fall Review 3 (Energy)
AP Physics C - Chapter 5
You may print this out and write on it or work on your own paper.

Show all work.

1.  A person holds a 2 kg fire extinguisher that ejects 0.5 kg of water each second horizontally at a speed of 4.5 m/s.  What horizontal force is needed to prevent the fire extinguisher from moving?

2.  Which has more kinetic energy, a satellite orbit at one Earth radius above the surface or one of equal mass orbiting at two Earth radii above the surface?

3.  An object of unknown mass is initially at rest and dropped from a height h.  It reaches the ground with a velocity of v1. ?  The same object is then thrown down with 2v1 from the height h.  How does the v final at the ground this time compare to v1?
4. A projectile is launched from level ground with an initial speed of v0 at an angle of ( with the  horizontal.  How long will the projectile be in the air?

5.  Objects 1 and 2 have the same momentum.  Object 1 can have more kinetic energy than object two if what is true?

6.  A 500 kg car, initially at rest, is accelerated along a horizontal road at 4 m/s/s.  What is the average power required to bring the car to a final speed of 80 m/s? 

Answers:

1.  2.25 N 

2.  K1 > K2
3.  
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4.  2v0 sin(/g
5.  if object 1 is moving faster (hence it will have less mass)

6.  8 x 104 W
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